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They collect according to the closeness of the houses

OVERVIEW

In response to the query whether we are 171 *% 1721 or Mws1 *oY, the ruling was 97
Tnn, and in response to the query (according to the *2XT X3°X) whether we are 721
0°na 217°p °9% or Nan 97, the response was 2°n2 7P 2. Our M»dOIN clarifies the
resolution according to the 7R7 X2°X.
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The n'"1 explained that the resolution of 121 17 2°n2 217°P 0% means that the

poor who live closer to the 7217 must give more than the 01y who live further
from the 7 -
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And similarly the rich who live closer give more that the rich who live further
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However (even) the rich who live further give more that the poor who live

closer, because the collection is also based according to monetary value of the
citizens.

SUMMARY
"2 777 0°N2 217°p 9% does not negate that we are also 1127 5% 721,

THINKING IT OVER
1. Is there a NP9 between the Rnp R1w°2 and the *nR7T 8K (according to ModIN)
since they both agree 1°212 17 1nn ria

2. What was the initial query if 17 °% or 2°n2 217°p 5% (according to MoLIN)?!

"It seems that the primary evaluation is Tmn 9% (for MPoIN writes that the 277 21wy pay more than the 2”1
2’217 [not even the same]). Let us assume a town of a hundred people where 20 percent of the population owns 50
percent of the money. These twenty people (as a group) will have to pay half the expenses. This half will be
apportioned to these rich people depending ([perhaps] how rich they are and) how close or far they are from the
7. The same will hold true for the remaining 80 poor people.
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